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0.8 0.55556 1.2 0.45455
0.9 0.52632 1.1 0.47619
0.95 0.51282 1.05 0.48780
0.98 0.50505 1.02 0.49505
0.99 0.50251 1.01 0.49751
0.995 0.50125 1.005 0.49875
0.999 0.50025 1.001 0.49975
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B Definition We write

equal to a).

lim f(x) = L

and say “the limit of f(x), as x approaches a, equals L”

if the values of f(x) approach L as the values of x approach a (but are not
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B Limit Laws Suppose that ¢ is a constant and the limits

lim f(x) and lim g(x)

exist. Then A =D
Llim[f(x) + g] =1im f(x) + limglx) = A + @
2. lim Lf(x) — 9] = lim flx) — lim g0 = A -0
3 lim ¢f(9] = e lim 70 : A
4. lim Lf(x)gx)] = lim f(x) - lim g(x) : AB
8 1im L) — }%g}f@ it img =0 = A
wagx)  limg(x) x=a )

6. !13{ [fo)] = “111: f(x)]" where n is a positive integer
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B Definition A function f is continuous at a number a if
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domains:
linear functions
power functions

exponential functions

polynomials

B The following types of functions are continuous at every number in their

rational functions
root functions

logarithmic functions
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20. (a) Find the domain of g(¢) = ——

(b) Find 11711;1 g(1).

(¢) Find lirzll g(1).
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50. Let F(x) = T

(a) Find
(i) lirlr1+ F(x) (ii) lim F(x)

(b) Does lim,_., F(x) exist?
(c) Sketch the graph of F.



